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A={7, -6, -5, -4, -3, -2, -1, 0, 1, 2, 3}
E unction process( array A, int n)
if (n == 0)
return 0;
ifC A[i] >= 0 )
return process(A, i-1) + 1;
else
) return process(A, i-1);
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function process_a( x, y, z)

{
if(x!'=0&&z=y/x)
return z;

}

function process_b(x, y, z)

iflz=y/x&&x!=0)
return z;

}
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What is true about virtual class?

(1) If a class is virtual, its method cannot be implemented in that class

(2) If a class is derived from virtual class, derived class’s method mapping table is

the same as parent’s

(3) The method mapping table can be changed dynamically

(4) The method mapping table will creates an item for every time a method is call
ed in the sub class at running time



(5) The method mapping table does not change throughout its life.
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?ub11c main()
String a, b, c;
a = null;
b = i"!;
C = “1”;
System.out( “a = “ + a.getLength() + “b = “ + b.getLength() +
“c = “+ c.getLength(Q) );
}
(1) a=0 b=0c=1
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